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数学  2 （主に線形代数）  

問 I， II， III のすべてに答えよ。  

I. 次の行列  𝑨 に関する以下の問いに答えよ。  

  𝑨 = ൭ 0 3 0−3 0 40 −4 0൱ (1) 

以下で，𝑰 は 3 行 3 列の単位行列，𝑶 は 3 行 3 列の零行列であり，𝑛 は 0 以上の整数，𝑡 は実数とする。  

1. 𝑨 の固有値をすべて求めよ。  

2. 𝑨 がみたす次の式  

  𝑨ଷ + 𝑎𝑨ଶ + 𝑏𝑨 + 𝑐𝑰 = 𝑶 (2) 

の係数  𝑎，𝑏，𝑐 を求めよ。  

3. 𝑨ଶ௡ାଵ を求めよ。  

4. 式 (2)の関係があるため，次の式が成り立つ。  

  exp (𝑡𝑨) = 𝑝𝑨ଶ + 𝑞𝑨 + 𝑟𝑰 (3) 

係数  𝑝，𝑞，𝑟 を，𝑡 を用いて虚数単位を含まない形で表せ。  
 
 

 
 
 
 
 
 

次のページに続く。  
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II. 図 2.1 のように 2 つの状態 A，B を確率的に遷移する離散時間のシ

ステムを考える。単位時間あたりに状態 A から B に遷移する確率は  𝛼，状態 B から A に遷移する確率は  𝛽 である。ただし，0 ൏ 𝛼 ൏ 1，0 ൏ 𝛽 ൏ 1  とする。また，変数  𝑛   および  𝑘   は離散的な時刻を表し，

0 以上の整数とする。  

 
図  2.1 

以下の問いに答えよ。  

1. 時刻  𝑛 に状態 A である確率を  𝑃୅(𝑛)，時刻  𝑛 に状態 B である

確率を  𝑃୆(𝑛)，𝑷(𝑛) = ൬𝑃୅(𝑛)𝑃୆(𝑛)൰ とする。行列  𝑴 を用いて，  𝑷(𝑛 + 1) = 𝑴𝑷(𝑛) と書くとき，𝑴 を  𝛼，𝛽 を用いて表せ。  

2. 行列  𝑴  のすべての固有値と対応する固有ベクトルをそれぞ

れ求めよ。  

3. 十分長い時間の後，状態 A である確率と状態 B である確率は

一定値に収束する。それぞれの値を求めよ。  

4. 𝑅୅(𝑛) = 𝑃୅(𝑛) − lim௞→ஶ𝑃୅(𝑘) とする。𝑅୅(𝑛 + 1) を  𝑅୅(𝑛) を用いて

表せ。  
 

III. ベクトル空間  𝑉 において，ベクトル𝒂ଵ, 𝒂ଶ, … , 𝒂௠ が 1 次独立で

あるとする。ただし， 𝑚 は 3 以上の整数とする。このとき，𝒂ଵ + 𝒂ଶ，𝒂ଶ + 𝒂ଷ, … , 𝒂௠ିଵ + 𝒂௠,  𝒂௠ + 𝒂ଵ が 1 次独立となるために，𝑚 が満た

すべき条件を示せ。  
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Mathematics 2 (Primarily from the field of Linear Algebra) 

Answer all Questions I, II and III. 

I. Answer the following questions concerning the matrix 𝑨𝑨 given by  

𝑨𝑨 = �
0 3 0
−3 0 4
0 −4 0

� . (1) 

In the following, 𝑰𝑰 is the 3×3 identity matrix, 𝑶𝑶 is the 3×3 zero matrix, 𝑛𝑛 is an 
integer greater than or equal to 0 and 𝑡𝑡 is a real number. 

1. Obtain all eigenvalues of the matrix 𝑨𝑨. 

2. Find coefficients 𝑎𝑎, 𝑏𝑏 and 𝑐𝑐 of the following equation satisfied by 𝑨𝑨 : 

𝑨𝑨3 + 𝑎𝑎𝑨𝑨2 + 𝑏𝑏𝑨𝑨 + 𝑐𝑐𝑰𝑰 = 𝑶𝑶 . (2) 

3. Obtain 𝑨𝑨2𝑛𝑛+1 . 

4. Since Equation (2) is satisfied, the following equation holds: 

exp(𝑡𝑡𝑨𝑨) = 𝑝𝑝𝑨𝑨2 + 𝑞𝑞𝑨𝑨 + 𝑟𝑟𝑰𝑰 . (3) 

Express coefficients 𝑝𝑝 , 𝑞𝑞 and 𝑟𝑟 in terms of 𝑡𝑡 without using the imaginary 
unit. 

 

 
 
 
 
  

Continued on the next page. 
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II. Consider a discrete-time system where stochastic transitions between the two states 
(A and B) occur as shown in Figure 2.1. The transition probability in unit time from 
the state A to B is 𝛼𝛼  and from the state B to A is 𝛽𝛽 .  Note that 0 < 𝛼𝛼 < 1  and   
0 < 𝛽𝛽 < 1 . Variables 𝑛𝑛 and 𝑘𝑘 represent discrete time and are integers greater than 
or equal to 0 .  

 
Figure 2.1 

Answer the following questions. 

1. Let 𝑃𝑃A(𝑛𝑛) be the probability that the state is A at time 𝑛𝑛 and 𝑃𝑃B(𝑛𝑛) be the 

probability that the state is B at time 𝑛𝑛 .  Let 𝑷𝑷(𝑛𝑛) = �𝑃𝑃A
(𝑛𝑛)

𝑃𝑃B(𝑛𝑛)� .  Express 

matrix 𝑴𝑴 using 𝛼𝛼 and 𝛽𝛽, assuming 𝑷𝑷(𝑛𝑛 + 1) = 𝑴𝑴𝑴𝑴(𝑛𝑛) . 

2. Obtain all eigenvalues and the corresponding eigenvectors of matrix 𝑴𝑴. 

3. As time tends towards infinity, the probability that the state is A and the 
probability that the state is B converge towards constant values. Obtain each 
value. 

4. Assume 𝑅𝑅A(𝑛𝑛) = 𝑃𝑃A(𝑛𝑛) − lim
𝑘𝑘→∞

𝑃𝑃A(𝑘𝑘).  Express 𝑅𝑅A(𝑛𝑛 + 1)  by using 

𝑅𝑅A(𝑛𝑛) . 

 

III. Assume vectors 𝒂𝒂1 , 𝒂𝒂2 , … , 𝒂𝒂𝑚𝑚  are linearly independent in a vector space 𝑉𝑉, 
where 𝑚𝑚 is an integer greater than or equal to 3. Obtain the condition that 𝑚𝑚 must 
satisfy in order for 𝒂𝒂1 + 𝒂𝒂2, 𝒂𝒂2 + 𝒂𝒂3, … , 𝒂𝒂𝑚𝑚−1 + 𝒂𝒂𝑚𝑚 and 𝒂𝒂𝑚𝑚 + 𝒂𝒂1 to be linearly 
independent. 
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